W e

b
N

F2IRRMBHRM 7 —F = ) —HBERR
F® ABTTREBSHERE7 —F )5k B

1

&

%

H
SRR
P4

AT —F =) — R 7 — T =V —
WEMT —F =) —r57

&7 —F =) -SSRy —F =) —r77
TET T —F L
SERk294E6 H 18H (AMER)

RCY =7 %4+ RC— 4+, CP— 4+, CP—i B+
RC—t %+

H 4 A AR

RCTOmZV R 725f (364 X2) CP50mT7V R 724 (3641 X 2)

AM RCVa=T# T _

AL T4 =g Ha ] 10 | X[ 70m-1 | 70m-2
1 [HE WDF] RSt m 596 15| 2 294 302
2 |AH R (|FASEttE s 595  13] 3 298 297
SNERE RS & 559 9 1 289 270
4 Qo BXED [FEdL T8 556  11] 2 280 276
5 At MhBEA |[AEtE& FE 552 5] 2 270 282
6 R Bt [FEdL T8 538 gl 2 261 277
7 PIgE RS S 520 4] 1 262 258
8 [H = |FAELT S 467 1l o 244 223
AM_RC—f % - _

NI R’ FH priE4 Ha ] 10 | X[ 70m-1 | 70m-2
1 S B HIBAC 639 23] 10 312 327
2 |lA B e A —EE 631] 21 5 310 321
3 |Gk 12’51%*” A A 605] 12] 3 314 291
4 [HP 13 |FEERE 592| 13| 5 288 304
5 ik B3 |FEEEREE 487 7| 1 246 241
6 |PE fEfE [PEAC 468 2l 0 218 250
7 | EHT A [PERARAC 465 5/ 2 298 237
AM CP—% 1+ _

NI = F4 P lg 4 S| 10 | X | 50m-1 | 50m-2
1[I & | UAC 635 20| 6 319 316
2 |[EHR T [E R 614 12| 2 305 309
3 A by b7 600 9] 3 298 302
4 [EBE FEET [P RBAC 554 5] 2 274 280
AM CP—% %+ _

NI, EFL prlg 4 S| 10 | X | 50m-1 | 50m-2
1 |3RIE K P HUARAC 637 18] 6 315 322
2 A = B e R 604 14| 4 301 303
3 |FuE ATiE PERERAC 512 71 3 265 247




PM RC—#&5% ¥ _

AT T4 =g B ] 10 | X ] 70m-1 | 70m-2
1 |EAR AR [HASsHr777 )= 676] 37| 13 340 336
2 |1t P AR S 625  14] 7 310 315
3 | ik A R 619] 13] 4 312 307
4 |8km FH—  |PEERAC 607  15] 3 297 310
5 ik ok |[REKRE 607] 14| 4 313 204
6 PIK AR (RS- 604 11| 2 312 292
7 HM A [PEEBRAC 600 17] 4 308 292
8 [HIEE iEf [[F&E4OBOG 586 10 3 298 288
9 [ A |ZEAC 586] 10| 2 296 290
10 il % T U ARAC 582 13[4 295 287
11 [ERJI FZ [PEAC 570 gl 2 298 272
12 &l O [RES SRS 556 71 4 271 285
13 |8 * AR AIm 547 7] 4 269 278
14 JEE &K |JRIEAC 505 4] 2 246 259
15 [BE B=  [WEMAC 499 3 1 250 249
16 [FE ] P U ARAC 495 1l 0 241 254
17 | ER)I RV | ERAC 473 41 0 223 250
18 |ILA 3l i FRAC 421 ol o 226 195
19 [—k: Az [FEEMAC 403 1 1 196 207




	府ア連報告用

